NOTE: THIS
END - FACE
OF RAIL TO
ABUTHENT xsﬁ
sy
25'-6 3/4" : 23'-2 1/2" = 30'-11 1/2"—
12" | L .
Fx. JT. Fx. JT.
Expansion [T T || 1 1 1 T L1 [N
Joint [ I |
[T L1 [1 L1 = [T . 11 [T [T
' P o AL L L P I L L L L
I 036 3/4" P WEST RAILING FACING WEST
=110 (EAST RAILING SIMILAR)
| 3'_ 1 O""” BREAK LINE
131!_8" n
I 0TE THIS r l_
' N H F—1r—]
128' PAY LIMIT: END - FACE é" ’ !
OF RAIL TO ff T2 1/
16 SPACES @ 7-9" = 124 DA TS I
1'-4 172* 1 1/2"] I
30'-11 1/2" 20'-9 3/4" "
172" _ | 172" | 3 w_
Fx. JT. Fx. JT.
" —_ 3!!__
[T T [T [T M| 1 [T T Expansion l5/8
T I 1 Joint T
I . 1 || [ I [T [T [T [T " I J
T T T = o LL J—'—-I \@13/16"
(3X)
18-9 3/4" | L5x 5 x 5/8"
1'-10" RAILING ANGLE
BREAK LINE 3.9 0--___—>|
GENERAL NOTES: 14"
1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF THE STANDARD 10"
BILL OF MATERIAL SPECIFICATIONS. 7 :
ITEM 2) PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16".
# QTY PART # DESCRIPTION ASTM DESIGNATION 3) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB). " -
4) RAIL TUBE EXPANSION JOINTS SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE END OF AN |2 /'@5
1 34 |0033.03610 |W6x25, THREE RAIL POST @ 2'-9” OA ON 1 1/4x10x1’-2* BP. |AS72 Gr. S50 INTEGRAL ABUTMENT BRIDGE AND AT ALL SUPER STRUCTURE EXPANSION JOINTS. EXPANSION JOINT
0 7 7 T v WIDTH SHALL BE 4'@ 68°F AND WILL BE ADJUSTED IN THE FIELD BY THE ENGINEER FOR OTHER 2"
2 | 2 [003391052 |HSS 3" X 5 X 1/4” RAIL @ 23'-6 3/4 AS00 Gr. B TEMPERATURES. i & @
3 2 [0033.91053 |HSS 3” X 5° X 1/4” RAIL @ 23'-2 1/2° AS00 Gr. B 5) RETROREFLECTIVE MATERIAL SHALL MEET THE REQUIREMENTS OF SUBSECTION 750.08 AND 8" !
4 4 [0033.91054 |HSS 3° X 5° X 1/4” RAIL @ 30'-11 1/2° AS00 Gr B SHALL BE A .063" ALUMINUM BACKING WHITE OR YELLOW REFLECTOR. WHITE IS TO BE INSTALLED ON - ——
0 0 7 = z THE DRIVERS RIGHT. FOR ONE WAY BRIDGES , YELLOW IS TO BE INSTALLED ON THE DRIVERS LEFT. 10"
4 2 |0033.91064 [HSS 3, X 5, X 174 ,RAIL e 18 ? 3/4 AS00 Gr. B 6) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE ADJOINING ) L—~21 1/16" (4x)
5 4 |0033.91055 |HSS 6” X 6 X 3/16” RAIL @ 25'-6 3/4" AS00 Gr, B SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES. Py ! ¢/
6 4 1003391056 |[HSS 6 X 6" X 3/16° RAIL @ 23'-2 1/2* AS00 Gr. B 7) THE MINIMUM DISTANCE FROM THE POST TO AN EXPANSION JOINT SHALL BE DETERMINED BY THE 4 |
0 - = 7 MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END OF THE SLAB, OR THE
7 8 [0033.91057 |HSS 6' X 6: X 3/16' RAIL @ 30’ 11 1/2’ AS00 Gr. B EXPANSION JOINT RECESS POUR, IF ONE IS USED. |
7 4 |0033.91065 |HSS 6" X 6” X 3/16” RAIL @ 20'-9 3/4 AS00 Gr. B 8) ALL POST SHALL BE SET NORMAL TO GRADE. THE MAXIMUM CENTER TO CENTER SPACING OF 3u
8 | 8 003300840 [2-1/8 X 4-1/4" FIX. SPLICE BAR @ 2'-3* AS72 Gr. 50 BRIDGE RAIL POST IS 8 3. [8 ROADSIDE
9 16 |0033.00640 |HSS 5’ X 5° X 5/16” FIX. SPLICE TUBE @ 2/—-3° AS00 Gr. B, A572 Gr. 50 9) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT ACCORDING TO A PROCEDURE —t—
0 13 S = = : — : PROVIDED BY THE FABRICATOR. I y I
4 0033.00220 |3/8” X 10° X 14’ ANCHOR PLATES (END POST) AS72 Gr. 50 10) STD. SPLICE HOLES ONLY IN BRIDGE RAIL TUBES. REST TO BE DRILLED BY CUSTOMER. FIELD
11 34 |0033.90050 [1/8” X 10° X 14 FABRIC PAD AASHTO M251 DRILLED HOLES TO BE COATED WITH AN APPROVED ZINC-RICH PAINT PRIOR TO INSTALLATION. ANCHOR PLAT
12 | 136 [0042.21013 [# 1° X 13" ANCHOR STUDS, W/ 2 1/4° THD. EACH END A449 Gr. 1, CLASS 88 TiyThis RAILING MEETS THE REQUIREMENTS FORA T1-4 SERVIGE LEVEL.
13 | 272 [0080.18901 |# 1° HEAVY HEX NUTS AS63
14 | 272 |0080.18911 |# 1° FLAT WASHERS F436 ITEM #:525.335 F.R. LAFAYETTE, CAVENDISH I SHEET 1 OF 2
15_| 136 |0080.18905 | 1° HEX JAM NUTS p563 Sa‘;"”? L°fkv‘,',a\f$‘e'h APPROVED BY: BRIDGE RAIL, DETAILS SHEET
16 | 136 |0080.07500 |# 7/8° X 8" ROUND HEAD BOLT, NUT, SQ. WASHER, L.W. A449, AS63, F436, ASME D18.2 167%2" x2* Washer CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM
17 | 34 [0080.06400 |# 3/4” X 8" HEX BOLT, NUT, (@ F.W., & LW. A325, AS563, F436, & ASME DiB2 | HexNu! 780\ 1/8"—|— 112" —|~ 18 VERMONT
18 68 [0080.06140 [# 3/4° X 2-3/4° HEX BOLT, NUT, & F.W., & L.W. A325, AS63, F436, & ASME Di1B.2 _\ R|NO. | DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION | BY]
19 | 64 |0080.06340 |# 3/4” X 7-1/2° HEX BOLT, NUT, & (2) F.W. A325, A563, & F436 N E[ 1 [1/i5/i4 REVISED PER 1/13/14 EMAIIEP.| E
20 | 32 |0080.06255 |[# 3/4” X 4-1/2° HEX BOLT, NUT, & (2) F.W. A325, AS63, & F436 | v [ = Yy DRAWN = s
21 | 34 [0033.00500 |L5* X 5° X 5/8° RAILING ANGLE @ 6 AS72 Gr. 50 3 5" =| |3 ELDERLEE.INC. @%&%’5@{%%% CHECKED | DL | 11720113
22 | TBD DELINEATORS - NOT SHOWN (SUPPLIED BY CUSTOMER) —l—18" OAKS CORNERS. NEW YORK 14578 APPROVED | :
ROUND HEAD BOLT F—Mail: dlong@elderice.com SCALE | SCHEMATIC
Tel:315—-789-6670 Faz:315-789-8615 DRAWING NO.F.A. LAFAYETTE, CAVENDISH




SPLICE BAR - FIXED

=—1/2"

(2) HEAVY HEX NUTS,

23"
2.0
Ty, 163
7 o —
— ¥ ] — | 1 r
@y T~ T.L°
2 Typ:
1R . J_\ / R /
a3 % - N\ Centerline of @ 7/8"
B in Top & Bottom of
41/4" X 21/8"X 2' 3" 5" X 3" X 1/4" Tube (Typ.)
Galvanized Bar | | | r‘2§1"
I T | ~
| | [
iEbEanERiEe ELEvATION
—— e —— FIXED BAR SPLICE ASSY.
12
——10"
14— 7
2 —f———10~ ]
L 1 2 iia
4 e
-4 g
B " | I
A 4)(,{31 1/16" (4x) 1
A4 g
/
1/8" FABRIC PAD T omnoe/ TP’ WPS-3008
FOR 1" DIA. ANCHOR
STUD (TYP.) —@OF POST
12— |—
. ¥ e
— % S S
. e"
2 ‘]- _1_ B ' l _[ _——
L ]
HSS 6" x 6" x 3/16" ok el of'é'\g &
W6 x 25 H |
6 2n9" ]
I
R i L5" x 5" x 5/8"
HSS 5" x 3" x 1/4" — 6 Railing Angle \ @[] -
10 13/16" L : I |
12" x 1-1/4" x 10" -5_ : i; _e—-! J— %
Base Plate E |
A A
RN L g
IfT Il
ol r : : :—.{4) © 1" x 13" ANCHOR STUDS i I 1h
2 i W/ 2 1/4” THD. EACH END & n i hl

(1) JAMNUT
AND (1) WASHERS EACH

OF RAILING ANCHORAGE

Jﬁz

SECTION

\

ELEVATION
STEEL BRIDGE RAILING

(4) 3/4" Fu ly Thredded Bolts. 4 1/2" Long

(ASTM A325, TYPE 1) 2 Washers and a Heavy
Hex Nut on each Bolt. Nut to be Finger Tight
and the First Thread below the nut to be

damaged A.O.B.E.. 4 Bolts at Each Splice.

b | SECTION A-A

@ of Round
Head Bolt with
Hex Nut,
Washer and
Spring Lock
Washer
(Typical)

BRIDGE POST DETAIL

.

L
g o |
I 41/2"
I N RE
~ “ \m}%’ (x2)
20 1/2" /" N
011_615_ / 1 N\-Wex25
2-7'3/4" 25 1/2° ::
:: ,-@1316' (x2)
I
29" T ©l ;
ot
- 01| 7
! ITEM #:525.335
PRIy ) H ) APPROVED BY:
J|J III | |
——10——

HSS 5" X 5" X 5/16" @ 2' 3"

Galvanized Tube

23" — 2"
20} 1oy |l—1of—,
164" 4 — "
o3 — e
1, - | I | =
3" Typ— [ b | —— =)
i I OLES ON
o A W - . k ELAN
_________________ FIXED TUBE SPLICE ASSY.
—I
PLAN
WPS-3009 \_ol- Centerline of @ 7/8"

4" X 1/4" X 26" Fill Plate
(Top & Bottom)

WPS-3009

Typ.

4" x 1/4" x 26" Fill Plate

1/4" 2-8

ELEVATION
FIXED SPLICE TUBE

1'-2"

—10"——

7
|.2~—° =]
i % —ro —— O

o
//O y i
FOR 1° DA, ANCHOR "7 WPS-3008

STUD (TYPD

5
e [ 11/2"
L]

6" X 6" X 3/16" Tub

in

Top & Bottom of

(Typ.)

A

——

0 [
-
==

=2

ELEVATION
FIXED TUBE SPLICE ASSY.

AR s
L
(4) 8/4" Fully Threaded Bolts. 7 1/2" Long

(ASTM A325, TYPE 1) 2 Washers and a
Heavy Hex Nut on each Bolt. Nut to be Finger

I
.ﬂ
(4

e

Tight and the First Thread below the nut to be
damaged A.O.B.E.. 4 Bolts at Each Splice.

SPLICE TUBE - FIXED

F.R. LAFAYETTE, CAVENDISH

| SHEET 2 OF 2

BRIDGE RAIL DETAILS SHEET

CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM

E-Mail: dlong Qe com
Tel:316—789-6670 Faz:315-789-6616

DRAWING NO.F.R. LAFAYETTE, CAVENDISH

VERMONT
R[NO. | DATE | _ DESCRIPTION BY| R [NO.] DATE | DESCRIPTION __|BY|
E[ 1| 1/13/14 REVISED PER 1/13/14 EMAILEP.| E
v | v
i DRAWN E.P. 11/13/13
ELDERLEE,INC. R CHECKED | DL 1IE0NS
0AKS CORNERS, NEW YORK 14518 APPROVED | . :
SCALE SCHEMATIC




3.7" 32'- PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL
HSS 6"x6"x3/16" Rail *

@10'-1 1/4" W/ Partial 20'
Radius & Typical End Ass'y ELEVATION VIEW

HSY 6"x6"x3/16" Kickback

@9 wEndCap  \ N\ _ ______________________________________________ e E Y
o R W N9/ - g

T S N - i — . & A & d— e " . . L 2.9
273 — = — E— T—— B 481,40, S s e . S S S

1

-, H .}[ 81 oo ‘Ik

=] ! ! 1 I
vall ' .
v v Last Bridge Post

aln 1§
R ningAl AR rin h— ol AN sln o Voo g o gh— 4R 4p 4h  ab
[ S3x5.7 Post @ 3'-8" S3x5.7 Post @ 63" w/Spade S3x5.7 Post @ 7'-0" w/Spade \ / W6x9 Post @ 7'0" w/ Spade

w/Spade @ 3'-0" Spacing = 15-0" @ 2-0" Spacing =6-0" | @ 2'-0" Spacing = 60" (3ea.)
3" /5 2" \4/

\4/
HSS 6"x8"x1/4" Tube
Blockout @ 6" —\6 ,[5 6
L] o
I b I I I I I I I I AIA

1/2"'— 1 "

L AR AN

GUARD RAIL TO BRIDGE RAIL TRANSITION & &
(WW 1)
(18

\1/
T T AR . I I T | i 5 IB L

e ] 1 g
SEE ADDITIONAL SHEETS FOR DETAILED VIEWS " ‘
BILL OF MATERIALS, WW 1 - ~ =] 4 ¢j "c"-"c"
N_#]_ary. ] DESCRIPTION MATERIAL CASTHD Tan [ |
3 [ ASTH _AS72 Gr. 50 | —lg"l— 1'-10"——
3 001357025 -POST PUNCH 8°, l 20° W/SPD @ 63" LG ASTM _AS72 Gr. 30
2 001357060 [3° I-END POST V/SPD @ 3-8° LG ASTH AS572 Gr. 50|
4 0013.09001 |W6X9 POST @ 7' W/SPD & 5/8° HOLES ASTM AS72 Gr. S0
5 4 001357010 | ) W, Al 4 ] .
3 [ 003360403 [3X5" BTH TRANS RAIL V/5'-0° KB, EXP END ASO0 Gr. B |
7 1 0033.00640 HSS SX3 TUBE SPLIE 827° LG W/ 1/4 SHIMS AS00 Gr. B / AS72 Gr S0
5 5[ 003300730 55 EX (F @ 36" 747 SR [ A%00 Gr. B 7 AS72 Gr 30|
51T oo IR e I S S AT ST RS ITEM #:621.725 F.R. LAFAYETTE, CAVENDISH SHEET 1 OF 10
10 19 0034.00050 |REG BB SHELF Ma..ES ® 4-1/2° ASTHM_A36
FES 55 ToL BEND SPL @ 27 TANG [ AS%0 Gr. B 7 AS72 G 50 | .
i m—L 8N NS DAL 2N WAL APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
3| OOSAD0565 [eXE TRANS, TUIE /0 € ¥ G =¥ CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM
B 1 [€X6" BB @ 9'-0° KICKBACK, W/ CAP & 20° ANGLE [ AS00 Gr. B 7 A% | VERMONT
HARDWARE NOTES Bt e =2 '" o "Z‘ "“_‘;,'- e UlICeR R[NO. | DATE | _DESCRIPTION BY| R [NO.| DATE | DESCRIPTION _|BY|
ITEM ¥ FUNCTION 18 1 BT =4 5/6° LG W/EXP w'.. ., PARTIAL RAD AS00 Gr. B E[ 1 2/11/14 |REVISED PER 12/20/13 MARK-UP|EP| E
19 [BOLT RAIL TO SHELF ANGLE (ITEN #10) 19 18| 008003353 [3/6° X 7 /2" ncu NUT, & 2 FW | A307, AS63, 436 | v v
20 |BOLT SHELF ANGLE CITEM #'S 10 & 11> TO POST TTWWI % 1-1. . NUT, & FW A307, AS63, F436 | | CERTIFEDI|-RRAWN E.P. 11/13/13
21 [BOLT BLOCK-OUTS CITEM #'S 13 & 14) 10 HEAVY POST 21 22 | 0080.04120 " x 1-1/2° BOLT, NUT, 2 FV & LW A07, A563, F436 N2 =
22 |4 PER SPLICE BAR CITEM #9) 2 |4 | 008006255 [3/4° X 4-1/&° BO.T, NUT, 2 FV A325, AS63, FA3E ELDERLEE,INC. [UYj=Acaict] CHECKED | Dl | 11/20/13
23 |(4> PER SPLICE TUBING ATEM WS 7 & 8) 33 | 15| 008006340 [3/4° X 7-172° BOLT, NUT, 2 FW , ASE3, F4 OAKS CORNERS, NEW YORK 146 APPROVED | . .
24 [BOLT RAIL CITEMS #'S 6,17, & 18 10 BLOCK-DUTS CITEM #'S 13 & 14> [WHERE FASTENED] B4 ] W%T_N 74 X @ CARR WLJ, MUT, PV & LV A7, ASE3, F436 E-Mail: dlong®@elderiee.com SCALE SCHEMATIC
25__[BOLT DOUBLE BEND SPLICE TUBE CITEM #12) T0 RAIL GTEM #18) & KICKBACK CITEM #15) - SN LML B RVAL LY AJES, 4563, T4 Tel:315-789-6670 Faz:315-789-6615 DRAWING NO.F.A. LAFAYETTE, GAVENDISH




32' - PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

ELEVATION VIEW

HSS 6"x6"x3/16" Rail
@10'-1 1/4" W/ Partial 20'
Radius & Typical End Ass'y

37"

HSS 6"x6"x3/16" Kicklpack

N [ e e .‘m e @ 9'-0" w/End Cap
I . ﬁ ° / m \ ---------- = S =, —_———————
e o S 415, R ¥ - S
s , : L . Y
e e e L e S— — - — = 2 01
e T 1 3 s H ]
f I - o
Ty : LA 4 1 '3
Last Bridge Post v | v 0 I mln
il 1 I ol [Rin| xin} NN RN RN NN RS — [ cly L L & 1
W6x9 Post @ 7'0" w/ Spade \\ / S3x5.7 Post @ 7'-0" w/Spade 33X5-’7 Post @ 63" w/Slpa"de $3x5.7 Post @ 3'-8" —7 |
@ 2'-0" Spacing = 60" (3ea.) @ 20" Spacing = 60" @ 3-0" Spacing = 150 w/Spade
N
\4/ 2" /5N 3"
\4/
HSS 6"x8"x1/4" Tube
" HSS 6x6x3/16"
— é Ej\ M Blockout @ 6 MBKY 6\
"ARIAT AI o I I I I I I T I I I I
T feoa [ cwew ! | | y o 0|0 o / |
- /2"
(8 (13
(5 (3 GUARD RAIL TO BRIDGE RAIL TRANSITION
1/
E] é HSS 6x6x3/16"
o ®
B i & 1 R W ; :
B"-"B - | @ ao I'[ ® aw H X
SEE ADDITIONAL SHEETS FOR DETAILED VIEWS
GG e BILL OF MATERIALS, WW 2
[ " 110 I IG"L_ TTE{' W] G;Y COWPONENT # DESCRIPTION MATERIAL CASTH)
' " — mn,ai ’ -
5 [ 3 | 001357025 |3 T-POST, PUNGH &7, & 207 V/SPD 8 65 LG ASTH A572 Gr. 50|
3 [ 2 | 001357060 |3 I-END POST V/SPD @ F-0° LG ASTH AS72 Gr. 50|
4 4 0019.09001 _|[W6X9 POST € 7' W/SPD & 5/6° HOLES ASTH AS7e Gr, 50 |
5|4 | 001357010 |3 I-POST, PUNGH & L 207, V/BX32" SPATE &7 ASTH AS72 Gr. 50|
§ [T | Wm0 fars" W TRARS RAL W/ G, EXF END L)
e A T e e : "5\ TEM g 621.725 F.R. LAFAYETTE, CAVENDISH SHEET 2 OF 10
19 ll SPL 3 l./B;_lXI;-l/” @ 36° LG ASTM _A36 #- B i )
B R R L I — ST rra] APPROVEDBY: COARD RAT, T0 BRIDGE RATL TRANSTTION DETAILS SHEET
_:g 3 005400565 |6X8" TRANS. TUBE B/0 € 3 LG 7500 Gr. B CAVENDISH, ER BRF 0416 (13), FiIC)ElJRuEOVJT131, OVER TWENTY MILE STREAM
1 |6X6° BB -0 Ci CK, W/ P & 22 GLE .
HARDWARE NOTES L300 ¥ RADIS & END ASSY AS00 Gr. B R[NO. | DATE | DESCRIPTION BY| R|[NO.]| DATE | _ DESCRIPTION __|BY]
TTEN & FUNCTION o e ENT, & PANTUL EAD L L E[ 1 | 2/17/14 [REVISED PER 12/20/13 MARK-UP|EP| E
19 |BOLT RALL 7O SHELF ANGLE (ITEM #1D o116 T ooe053555 1378 B 13T 307, AS63, FA%6 | v [ 1v
20 _{POLT SHELF ANGLE CITEN ®S 0% ID TOPOST 20 | 15 | 008004100 [I/2° x I-1/&° BOLT, NUT, & FV 307, A563, F436 | T —{ DRAWN | EP. | 111313
# 21 | 22 | oom00aien |1/ x =172 BOLT, NOT. 307, ASE3, FA36 | ! ren
224> PER SPLICE BAR CITEM #9) o R o e — ELDERLEE,INC. [ CHECKED | DL. | 11/20113
23 [(4) PER SPLICE TUBING GTEM WS 7 & B 73 | 12| 008006340 [3/4" X 7-1/2° BOLT, NOT, 2 FV A5, AS63, FI6 | OAKS CORNERS, NEW YORK 146 APPROVED | . E
24__[BOLT RAIL CITEMS WS 6,17, L 18 10 BLOCK-DOUTS CITEW WS 13 & 14) [WHERE FASTENED 34| 6 | 00006370 [3/4" X BOLT, NUT, FV & LV , F4 E-—Mail: dlong®elderice.com SCALE _| SCHEMATIC
25 [BOLT DOUBLE BEND SPLICE TUBE CITEM #12) TO RAIL (ITEM #18) & KICKBACK (ITEM #15) | 25 2 Wm. NUT, & FV, & LW 323, A363, FA36 Tel:815—-789—-6670 Fax:815-789-6616 DRAWING NO.F.R, LAFAYETTE, CAVENDISH




32' - PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL
* HSS 6"x6"x3/16" Rail

@10'-1 1/4" W/ Partial 20'
Radius & Typical End Ass"

HSS 6"x6"x3/16" Kickback
@ 9'-0" w/End Cap

ELEVATION VIEW

- . o o
e I — Y Y 1 p— £ \\ﬁ —p— }
2 g" i T R I"I_ 'ﬁ' "_’ﬁ‘ """ N — e — e — N — . — - Y I ° [ S— <. . I = | B "g"
- =T n : 2.3 e
C N e S~ ) i s— —l'i—"—'l—l— """ FRe——o— B = = u
£ o0 u;; I ;_}H ) o 1 —I 1 A H H 137 [
T vV ! ' — e
Last Bridge Post v j'o" H
o 0o 1 o REN iR oo iR RN ! - — [ RN RIREER N
Wexs Post @ 76w/ Spac \ / a5 st 1 70 08 | 53x5.7 Post @ 63" wiSpade S3x5.7 Post @ 3-8" _ ]
@ 2'-0" Spacing = 60" (3ea.) @ 2'-0" Spacing = 6-0" @ 3'-0" Spacing = 150" w/Spade
5
\4/ 2! /5N 3"

HSS 6"x8"x1/4" Tube
" HSS 2
°T° [5 E}\ y Blockout @ 6 6x6x3/16 \
I I I I I T T - - . .
mew |\ ] y

AR £ X X0 e o o o , {
i L) /2"
% % GUARD RAIL TO BRIDGE RAIL TRANSITION
(WW 3)
>,
I °I° 6 E] . . I ;X \ I I I 1 T
B-"B" <+ @ @ [+] c® e | < 17—

SEE ADDITIONAL SHEETS FOR DETAILED VIEWS

Lo L =y = BILL OF MATERIALS, WV 3
=T 1 [ (=T TTEW #]_QTY. [COMPONENT #] DESCRIPTION HATERIAL (ASTH)
[<—1' 10" =16 1 3 0013.57021 E 1-POST, PUNCH 8° W/SPD @ 63° LG ASTH_AS72_Gr. 50
2 3 0013.57025 A » & /SPD @ 63”7 LG ASTH AS72 Gr, 50
3 2 001357060 [3° I-END POST W/SPD @ 3'-8° LG ASTM AS72 Gr. 50
4 4 0013.09001 S 3
4 001357010 _[3° 1-POST, PUNCH 8- & 20°, W/6X32' SPADE 87 ASTH AS72 Gr. 50|
T 0033.80403_[3X5° BIM_TRANS RAIL W/5'-0° KB, EXP_END Gr. B
1| 003300640 %5 TUBE SPLICE 627" LG W/ 174" SHDR B WA
X XD <P v " SR ASO0 Gr. B 7 AS72 Gr 50
| e o e ASTHASE ITEM #: 621.725 F.R. LAFAYETTE, CAVENDISH [sHEET 3 oF 10
T10_| 19 | 005400050 |REG BB S S @ 4-172" ASTH_A36
I orstoonr4 RS S T BERD TOK S € 77 AW 3 7mEGw | APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
e [y P LA R Sl 2 GAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM
5 1 0054.09000_[6 B 57—0° KICKBACK, W/ CAP — AS00 Gr. B 7 A% | VERMONT
HARDWARE NOTES 161705 | 0054.18000 [6X6" BB @ 1711 1727, DRILL 3 CT. AS00_Gr. B |[R[NO. | DATE | DESCRIPTION BY| R[NO.[ DATE | DESCRIPTION _|BY]
TiEW & FUNCTION T T T Lo VX A0 G- 2 E[ 1 [2um Fmssn PER 12/20/13 MARK-UP| EP| E
19 IBOLT RALL TO SHELF ANGLE (ITEN $10) 15 | 18| 0080.03355 [3/6° X 7 1/&° BOLT, NUT, & 2 FV 307, AS63, A% \4 v
&1 [30LT DLOCK-OUTS GTDH WS 13 & 49 T0 WEAVY FST e e e e T i
H T8 | 22 | oo0s0.04120 [i/2° x 1-1/2° BOLT, NUT, & FW "] A7, A563, F436 | El
22 [c4) PER SPLICE BAR TEM #5) — e e e e e e e £ L L — ELDERLEE,INC. CHECKED | D.. | 1720113
23| PER SPLICE TUBING UTEW 'S 7 L 6) TP |17 | oosuoesw [3/4° X 778" BT, NUT, EFV A3ES, A5G0, FA%6 | OAKS CORNERS, NEW YORK 145 APPROVED | :
24 [BOLT RALL CITERS ¥S 6,17, & 18 10 BLOCK-DUTS CITEW W'S 13 & 14) [WHERE FASTENEDY| 24 | & | 008006370 [3/4° X & CARR BOLT, NuT, FV & TV L A L E-Mail: dlong@elderise.com SCALE__| SCHEMATIC
25 |BOLT DOUBLE BEND SPLICE TUBE (ITEM #12) TO RAIL C(ITEM #18) & KICKBACK C(ITEM #15) —25 2 0080.06400_[3747 X 8 BOLT, NUT, 2 FW, & LV A325, AS63, F436 | Tel:315—789—-6670 Fax:315-789-6615 DRAWING NO.F.R. LAFAYETTE, CAVENDISH




HSS 6"x6"x3/16" Rail
@10'-1 1/4" W/ Partial 20"
Radius & Typical End Ass'y

HSS 6"x6"x3/16" Kickback

3

2' - PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

ELEVATION VIEW

@9-0"wendCap \ \ T N R S i R, S S — —pn

............................... — (B — t —

{ \ £ i - A B - 16 0 . 0 1 5 g e s s O
"B" j-——- H- - — - —-- — __j,__; COCTI R ~ — —— o i B & d— o = H _l:‘l o 4 i 4 2.9
[ ] . = = p— = I = B Sl =T i i _‘-""T-[E"_—'“_— %
— | —T7-3" = & H 5 l— C ) ry u‘l' ‘l' I ; :JJ 0 - 3
,_g———’ 4 [} . ! [
i "Gy v Last Bridge Post
il E{ NN LRI = ~—Liil [N AN IRER il IR AN o il il i1l
I S3x5.7 Post @ 3'-8" S3x5.7 Post @.63“ w/Spade S3x5.7 Post @ 7-0" w/Spade \ / W6x9 Post @ 7'0" w/ Spade
w/Spade @ 30" Spacing = 15-0" [~ @2-0"Spacing=6-0" | @ 2'-0" Spacing = 60" (3ea.)
3" /B 2" \4/
\4/
HSS 6"x8"x1/4" Tube
Blockout @ 6" ,6 E] ~ 3
I I T I I I I I h o ‘\ﬁ I WA WAR
{ \ ‘o | ® o \ / T s o] coew | 1 A"-"A
1/2"— - =4
GUARD RAIL TO BRIDGE RAIL TRANSITION % %
(WW 4)
(18
\1/

x T I T T T T . . 6 E] T (——

HARDWARE NOTES

ITEM &

FUNCTION

BN R

BOLT RAIL TO SHELF ANGLE
BOLT SHELF ANGLE CITEM #'S 10 & 1) TO POST

BOLT BLOCK-OUTS (ITEM #°S 13 & 14) TO HEAVY POST
(4) PER SPLICE BAR (ITEM #9)

(4) PER SPLICE TUBING CITEM #'S 7 & 8)

BOLT RAIL CITEMS #'S 6,17, & 18 TO BLOCK-OUTS CITEM #'S 13 & 14) [WHERE FASTENED]
BOLT DOUBLE BEND SPLICE TUBE (ITEM #12) TO RAIL (ITEM #18) & KICKBACK (ITEM #15)

CITEM #10)

SEE ADDITIONAL SHEETS FOR DETAILED VIEWS

TEM_#]

BILL OF MATERIALS, WVW 4

b oo

TR

DESCRIPTION MATERIAL CASTM) 1
r. ——] 6" L._ [__1 10" |
[3” 1-POST, PUNCH 67, & 20° W/5PD @ 63° LG A T
[ 1-END POST W/SPD € 36" LG ASTH _AS72 Gr. 50
™
[3 1-POST, PUNCH &° L 207, W/8X32" SPADE a7’ ASTH AS72 Gr. 50|
m V75'=5" KB, EXP END AS00 Gr. B
HSS X HIMS "
Mmmmﬁl“LGV/V4SHDG AS00 G~ B / AS72 Gr 50

R EXP BAR SPLICE 2-1/6° X 4-U/F & 36" (G mmme —— | ITEM #: 621.725 F.R. LAFAYETTE, CAVENDISH | SHEET 4 oF 10
3 SFELF_ANGLES @ 4-1727 ASTH A%
FIS 5K TR 3630 TUBE S ¥ 277G SWE s /EEES ]| APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
T —Ton T A | CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM
6X6” n:v—n' KICKBACK, W/ CAP AS00 Gr. B /7 A36 VERMONT

71 172, "1 SRl - o R[NO. | DATE | _ DESCRIPTION BY| R [NO.| DATE | DESCRIPTION _ |BY]
'v' T TRAE AT . E[_1 | 2/17/\ [REVISED PER 12/20/13 WARK-UP|EP| E
:vn'x7v2'nruur,|.arv A307, ASE3, T436 | \4 v

x 1= A A A307, AS63, F436 | o CERTIFIED DRAWN E.P. 11/13/13
78" % 1-178” BOLT, NUT, & FW & LW [ A307, AS63, 7436 |
! LA : : ELDERLEE,INC. g rasricaTOR|| CHECKED | D.L. 11/20/13

B4 X 7172 BT, WOT, B TV A325, ASE3, 436 OAKS CORNERS, NEW YORK 146 APPROVED |_. -
747 X A307, AS63, FA36 E—Mail: dlong®@elderiee.com SCALE SCHEMATIC
(74 X & BOLT, WIT, 2 FV, & LV A325, AS63, T436 | Tel:315—-789—6670 Fax:315-789-6615 DRAWING NO.F.R. LAFAYETTE, CAVENDISH




PLAN VIEW

[

1/4" X 8" X 24" SPADE

P/Nt 0013.57025

% N ¥
—
\e 13/16* HOLE
(FOR GALV)
35"
Q 5/8" HOLES 1
(4) REQD
63°+1/8"
STV T
WPS 3040
WPS 3040
N
/ 14/ 211
1/4* ; 238"
FRONT CITEM # 2) spe "%
P
LAN.VIEW P/Ni 0013.57021
=
—jE t‘l/A' X 8" X 24" SPADE
%
8 'II % N ¥
W ~
i N\s 13/16° HOLE
J_ I (FOR GALV)
5/8" HOLES
(2) REQD
35"
63"£1/8"
1/4" 238"
WPS 3040
WPS 3040
N
/w- | X1
" L
4"+1/8" i
g 14" 238"
FRONT CITEM # 1D IDE s

PLAN VIEW

P/N: 0013.09001

PLAN VIEW P/Ni 0013.57060 __
8" —] ':—-—l—a'
I— —— 4" /4" X 8" X 24" SPADE
1/4" X 8" X 24" SPADE -+
¥ ERTh i
u 8 e . l I'S |2§f- "
° 2 |_ 1 I =
T _{:TE 1‘7}']— h _“%’ .\\0
-+ 3/16" HOLE
G%" ) \013/16“ HOLE Hr (rénm&?
16 | (FOR GALV) 133 6
5/8" SLOTS T 1
@4 | | 1
i | [ VEETE .
! ! ! WPS 3040 ET}. e QD)
! ! 44°£1/8" ! T
I I WPS 3040 |
i [\ 1 /WGXQIBEAM
l I 14" 1/ 211 I
4 W H WPS 3040
| l | /2
i ) 7 -
i | \
4"41/8" il J_ WPS 3040
L— MW CITEM # 3) — (R VERTS / l'>
14" 2-10
FRONT SIDE WPS 3040 /
/
B WPS 3040
1/4" 2
1-6"
C(ITEM # 45
FRONT SIDE
GENERAL NOTES:

1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF
THE STANDARD SPECIFICATIONS.

2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).

3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE
ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES.

4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL
BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED.

5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER
THAN 16' TO BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE
CUT" AND WELDED. CURVED RAILING WIIL HAVE AN 18" LENGTH ON EACH END
STRAIGHT TO ACCOMADATE SPLICES.

ITEM #:621.725

PLAN VIEW

e

1/4" X 8" X 32" SPADE

J—
B

P/N: 0013.57010

Cals s
| N
L Eitioa
200 | 58° HOLES T
| @ereao
i
ar
S 1
I
I
! ! 14" 238"
| | WPS 3040
i
! ! WPS 3040 S
i N
| I 141/ 210
32 W

i
i
i
I

e I
I
i CITEM # 5

! REEG
ERERET SIDE WPS 3040

F.R. LAFAYETTE, CAVENDISH

SHEET 5 oF 10

APPROVED BY:

GUARD RAIL TO BRIDCE RAIL

CAVENDISH, ER BRF 0416 (13), ROUTE VT

TRANSITION DETAILS SHEET

131, OVER TWENTY MILE STREAM

VERMONT
R[NO. [ DATE| DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY]
E[ 1| 2/17/" [REVISED PER 12/20/13 MARK-UP|EP| E
\4 | \
TRV DRAWN E.P. 1131
ELDERLEE.INC. j_%%%ﬁﬂ%? CHECKED | D.L. 11/2013
» & N
0AKS CORNERS, NEW YORK 145 APPROVED | . .
E-Mail: dlongQ@elderiee. SCALE SCHEMATIC

com
Tel:315—789—6670 Fax:315-789-6615

DRAWING NO.F.R. LAFAYETTE, CAVENDISH




SHOWN W/
TYPICAL END
ASSEMBLY

DRILL PATTERN
PRIOR TO

20’ CONVEX
RADIUS ON
ROADSIDE
FACE, & PRIOR
TO ADDING
TYPICAL END
ASSEMBLY

1/2" HOLES @778 HOLES
(TOP & BOTTOMD (TOP & BOTTOM
3 REQ'D
——7 . . vl
=
2113
5113
8113 :
I 10413

CITEM # 16

- WW 1

HSS 6x6x3/16"

|..—-1I-B- \/
778 HOLES
(TOP & BOTTOMD
[ 4 : — |
| H ]
i
— =T
2113
5113
8113
10413 {

CITEM # 16 - WW 2

ITEM #: 621.725

F.R. LAFAYETTE, CAVENDISH

DRILL PATTERN
PRIOR TO

15’ CONVEX
RADIUS ON
ROADSIDE
FACE, & PRIOR
TO ADDING
TYPICAL END
ASSEMBLY

SHOWN W/
TYPICAL END
ASSEMBLY

SHEET 6 oF 10

APPROVED BY:

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM

VERMONT

DATE [ DESCRIPTION BY

R [NO.
E

DATE DESCRIPTION BY]

<m3

21114 }REV!SED PER 12/20/13 IARK-UPIEP

OAKS CORNERS, NEW YORK 145
E—Mail: dlongQelderies.com
Tel:315—-789—-6670 Faz:315—-789—-6615

\4

11/1311
11/20/13

DRAWN E.P.
CHECKED | D.L.
| APPROVED

SCALE SCHEMATIC
DRAWING NO.F.R. LAFAYETTE, CAVENDISH




(————— THIS LENGTH TO BE SHOP CURVED - FACE OF RAIL TO BE 20' RADIUS, CONVEX I——1'-6"—
1/2* HOLES
0§ 10 x4* SLOT TOP VIEW  TOP+BOTTOM (TYP) #7/8° HOLE
kool E— 6 REQ'D TOP+BOTTOM
/ 2 REQ'D &
4%’-1 l‘_..g/ r
o< f f + : f f e 2
5-10° | g
7-10"
g-10"
11-10"
14-10"
17-10"
209§
1 HOLES
FRONT+BACK CTYP.)
2 REQ'D
SIDE VIEW - op
L | - I:%'
6 |
]
] I’
1-10"
I 3410 CITEM # 17, WW 1D
[———— THIS LENGTH TO BE SHOP CURVED - FACE OF RAIL TO BE 20' RADIUS, CONVEX ———I—— e
1/2° HOLES
of 179 x4* SLOT _TOP VIEW  TOP+BOTTON <TYP) DRILL 97/8° HOLE
4— l— / TOP+BOTTOM S REQ D\ TOP+BOTTOM \ / eeo
| -t : t f } % t t——1
e ]
¢ 5-10" | l—r—
710"
910"
110"
14-10"
17-10"
2143
17 HOLES SIDE VIEW

FRONT+BACK (TYP.)
/2 ReEaD

1%
|
IL
| |¥
1-10"
) 3-10"

CITEM # 18, WWD

MITER CUT FOR
9’-0” KICKBACKS

ITEM #:621.725

BACK VIEW

1l
T |
6 i |
-|_L mg-rmmumwum D/
1] 2 6’ X 6° X 3/16° WELDE
CAS DETERMINED BY GROUND SLOPE DRO! END CAP, W/CUT CORNERS
I0P VIEW
y i
o
.
I -
5 e o —
3 | - . AT
N\ 7/8° 172" I
(TOP & BOTTOM) (TOP & BOTTOM)
——\MITER @ 20° - WW 1 ® 5/8° HANGIN
MITER @ 22° - WW 2 HOLE FOR GALV
MITER@ 125°-WW3 -\ o o (TOP & BOTTOM)
MITER @ 12.5° - WW 4
1°%7° HOR. SLOT
3/8°x4"x9-1/2" TOP+20TION
SHIM PLATES
WPS#3016 4-REQ. (2w/SLOT)
Typ. 1°x7” HOR. SLOT o
TOP+BOTTOM ),
—1"
5 3/4"
. e B-U1VB-F
WPS#3007

HSS 5‘x5'>6/16'-\_—' _—_T_,_—_—er | ’ -F-"‘,,

CITEM # 12

’A* - SEE PLAN FOR TURN BACK DISTANCE, SET ANGLE
ACCORDINGLY. <40° FOR WW 1, 45° FOR Ww2, 25° FOR
WW 3 & WW 4

’B* - TURN DOWN ANGLE SET BY THE 9" MEASURMENT AT
THE END OF THE BOX BEAM. C(FIELD MEASUREMENT REQ'D)

F.R. LAFAYETTE, CAVENDISH

| SHEET 7 oF 10

APPROVED BY:

CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM
VERMONT

GUARD RAIL TO BRIDGE RAIL TRANSITION DETALLS SHEET

DATE | DESCRIPTION BY| R [NO.| DATE DESCRIPTION
E

211 |REVISED PER 12/20/13 MARK-UP|EP

DRAWN E.P.

11/13/1

v
R [ cHECKED | DL

ELDERLEE,INC. @

11/20/13

O0AKS CORNERS, NEW YORK 145 APPROVED

SCALE | SCHEWATIC

E—-Mail: elderiee.com
Tel:315—789—-6670 Faz:815-789-6616

[DRAWING NO.F.R. LAFAYETTE, CAVENDISH




THIS LENGTH TO BE SHOP CURVED - FACE OF RAIL TO BE 15' RADIUS, CONVEX —1'-6" —
1/2* HOLES r
Tog 10 x4° SLOT TOP VIEW TOP+BOTTOM (TYF:.) #7/8° HOLE
TOP+BOTTOM 6 REQ'D TOP+BOTTOM
4%.-| I—‘_‘_/ 2 REQ'D [—:r
Lep-<p t f # ¥ ] % % o e
5-10° | 6=
710"
910"
11-10" 3/=7"
134"
14-10"
17-10"
209f ONNECT BEAM TO RAIL SUPPORT
{ ANGLE W/ #3/8°x7 1/2° HEX
BOLT W/ NUT & TWO WASHERS
1* HOLES |
FRONT+BACK (TYP.) 3y e
2 REQ'D T 7
SIDE VIEW ! RAIL
- —l 10} SUPPERE
. NGL
| ra _ 4%_ 81_31 Al
, | i
i ; :
— 1100 ND COVER PLATE
310" CITEM # 17, WW 2 GROUND LINE z
1—s3x5.7 POST RM._/ $3x5.7 POST
SUPPORT ANGLE
(CONNECT TO END
POST W/ ONE #1/2°
x 1 1/2° HEX BOLT J:
J:b :l W/ NUT & WASHER)
|
TYPICAL END ASSEMBLY DETAIL
THIS LENGTH TO BE SHOP CURVED - FACE OF RAIL TO BE 20" RADIUS, CONVEX |—1-6" —]
1/2° HOLES
0 vo e TOP VIEW  TOP+BOTTOM (TYP) I MITER CUT FOR
1°¢ x4* SLOT —uh ViEW & RECD DRILL $7/8° HOLE 9'-0° KICKBACKS
o — |— / TOP+BOTTOM TOP+BOTTOM \ / ege*
| e | = t } f f .
6’
| o ' '_7._
710"
910"
11-10"
1343
1410
17-10"
2148
H . .R. , CAV SHEET 8 oF 10
1 HOUES SIDE VIEW ITEM #:621.725 F.R. LAFAYETTE, CAVENDISH
X FRONTYBACK (TYP) — APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
l r REQ'D CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM
- h | VERMONT
| ] R[NO. | DATE | DESCRIPTION BY| R [NO.| DATE | DESCRIPTION _|BY]
I_,._,o-4 E[ 1| 2/17/14 [REVISED PER 12/20/13 NARK-UP|EF| E
v [ v
r 310 Iy
CITEM # 18, WwWe) Q —7|_DRAWN EP. 11/13/13
ELDERLEE,INC. [\ E’%‘%@M&% CHECKED | DL | 11720713
OAKS CORNERS, NEW YORK 145 APPROVED | . g
E—Mail: dlongQelderiee.com SCALE SCHEMATIC

Tel:315—789—-6670 Faxz:315-789—6615

DRAWING NO.F.R. LAFAYETTE, CAVENDISH




1/72° HOLES
7/8° HOLES <TOP & BOTTOM) #7/8° HOLE
(TOP & BOTTOM> /: REQ'D (TOP & BIJTTDM%\ e
77 7 A v Ay
. " b4 (4
‘!’—__}—_I_wk ]
2§ i
511§ 10k
sy
eng
19113
xvr-n%'
® - THIS LENGTH TO BE COORDINATED W/ THE GUARDRAIL MATERIAL TO BE USED
C(FIRST 9’ IS PAID UNDER BRIDGE RAIL ITEM, REMAINDER IS GUARDRAIL ITEM
— i ; ; + i — £
L] | | | i i L] |
T T T T T T
CITEM # 16 - WV 3 & 4
®7/8° HOLE
TOP+BOTTOM
1/2° HOLES 2 REQ'D
. ¥ i TOP VIEW  TOP+BOTTOM (TYP)
10} 1°¢ x4* SLOT —_— V=W 6 REQ'D
/ TOP+BOTTOM .
o - = [
e } } } } } } ¥
5100 | L
7-10"
910"
11-10°
14-10°
17-10"
2093 |
1* HOLES
FRONT+BACK (TYP.)
2 REQ'D
SIDE VIEW
e e —| 10
| -3 = I:'%
e JJ
I
1-10"
3-10" CITEM # 17, WW 3 & 4
DRILL #7/8° HOLE
1/2* HOLES TOP+BOTTOM
1o MITER CUT FOR
* 19 x4° SLOT _T0OP VIEW TUP*BUTTUE gEY(;’,g 9'-0* KICKBACKS
o — I—- TOP+BOTTOM / ele-1/2°
| ‘heeet f f + } t t 3
eI | -
5.10" |
710"
910"
11-10"
14-10"
1710
214
17 HOLES SIDE VIEW
) FRONT+BACK (TYP) [
| s 2 REQ'D
T
- :
|—|'—10"
! e CITEM # 18, WW 3 & 4)

ITEM #: 621.725

F.R. LAFAYETTE, CAVENDISH | SHEET 9 oF 10

APPROVED BY:

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM
VERMONT

<m3

DATE | DESCRIPTION BY NO.| DATE DESCRIPTION _ |BY]

R
211/ {REVIS[D PER 12/20/13 MARK-UP|EP| E
v

DRAWN E.P. 11/13/1
CHECKED | D.L. 11/20/13

% CERTIFIED
<FABRICATOR

% ""\)
ELDERLEE,INC. @

0AKS CORNE APPROVED | . .
o, Nimxc;:s SCALE__| SCHEMATIC

E-Mail:
Tel:315—789—-6670 Faz:315-789-6615 [DRAWING NO.F.R. LAFAYETTE, CAVENDISH




" Typ.

CITEM # B

ot @ 4" @68°F

1"x4" SLOTS, TOP
& BOTTOM OF TUBE

1"x4" SLOTTED HOLES IN
TOP & BOTTOM OF HSS

6x6x3/16" (TYP)"

ELEVATION
EXPANSION SPLICE ASSY.

“DRILLS

LOTTED HOLES

PRIOR TO GALVANIZING

(4) 3/4" Fully Threaded Bolts.7 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a
Heavy Hex Nut on each Bolt. Nut to be Finger

Tight and the First Thread below the nut to be

PLAN
FIXED TUBE SPLICE ASSY.

damaged A.O.B.E.. 4 Bolts at Each Splice.

Centerline of @ 7/8"
in Top & Bottom of
HSS 6"x6"x3/16" Tube (Typ.)

|=3==9=':Iﬁ=’=—xﬁll AT

1T
ELEVATION

FIXED TUBE SPLICE ASSY.

!

(4) 3/4" Fully Threaded Bolts. 7 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a
Heavy Hex Nut on each Bolt. Nut to be Finger

Tight and the First Thread below the nut to be
damaged A.O.B.E.. 4 Bolts at Each Splice.

CITEM % 7>

SPLICE TUBE - FIXED

GRIND TO 1/8° R

&%wn . ——5%“—
/2" DRAIN HOLE> h
& T
¢ 1T
1 1L
1./
FLooo

9.
Ris

1
END COVER PLATE DETAIL

F.R. LAFAYETTE, CAVENDISH

[sHEET 100F 10

SPLICE BAR - EXPANSION 73
HSS 5'x5"x5/16" @ 36" i 1
S P4 B F Galvanized Tube 4%__ | —
: '-:5 5 ; /\'xd"SLOTS.TOP '_I___g ———————— =TT
i & BOTTOM OF TUBE C 8
--—%‘Tw- —-—'0%-'— : 1 & 1 L 1 i s i i N
' 1 15 1e i ( ﬁ - WPS 3009 PLAN o
R == » ¥ ) W Nk
rwd  EH r_& P S i i I } & /210 Typ.
- R = PLAN \
2} PLAN o /1] 1"x4" SLOTTED HOLES IN 4"x1/4"x35" Fill Plate
I ¥ Tvp. TOP & BOTTOM OF HSS (Each slde)
41/4" X 21/8" X 36" 5x3x1/4" (TYP)*
Galvanized B ¥
alvanized bar | | s * DRILL SLOTTED HOLES
[ K HH o || PRIOR TO GALVANIZING | X .
ELEVATION | I i ' ' '
EXPAN (4) 3/4" Fully Threaded Bolts. 4 1/2" Long
EXPANSION BAR SPLICE ELEVATION (ASTM A325, TYPE 1) 2 Washers and a Heavy WPS.3000 T T T
EXPANSION SPLICE ASSY. Hex Nut on each Bolt. Nut to be Finger Tight T 00 —
znd the ezl:ghread b;low 1heEnut to b'g ST VT ELEVATION
lamaged A.O.B.E.. 4 Bolts at Each Splice. 4"x1/4" 20" Fill Plate EXPANSION SPLICE TUBE
CITEM # 9 (Bottom)
SPLICE TUBE - EXPANSION
==
2'-3"
— — . _0%.
vl
| —7116" X 3" SLOT 4 ‘-_—934_|
_hb_/ £ | = = o
T
HSS 5" X 5" X 5/16" @ 2' 3" PLAN —N—
-| s |- . 3. I_ Galvanized Tube —
TOP VIEW ™ °
5¢
3 4" X 1/4" X 26" Fill Plate
1 Each side;
I I l TIT ( )
g
2 1 |
Sé' @_ %J_ 18 ! ! !
WPS 3009 | L
- 34X 5" X 3/8" ANGLE 4" x 1/4" x 26" Fill Plate ELEVATION
ak (Boltom) FIXED SPLICE TUBE
4y
FRONT VIEW PLAN VIEW
CITEM # 100
(vpg—soo;
(DB-ULV
ok Lot = |
“ X 4 SLOT
4= = /%TDP & BOTTOM) 8"
T o S = . = |
! — g i [
T e O 1 i =~
+ l 1% ITEM #: 621.725
T . 1"
0578 4 s 2 APPROVED BY:
J0P VIEW OST SID (2X)
.’_11"
3-10° aren e 1 ’ 2
1-10" TACK WELD DN\ 1'2'" B¢
e 1/4" END CAP . 05" (2X)
i e+ 1 FL o 41
CITEM @ 1D =
gl / o] il S 8 1,
1’ HOLE ERONT_VIEW e

C(FRONT & BACK)

CITEM # 6, WW 3 & 4

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

CAVENDISH, ER BRF 0416 (13), ROUTE VT 131, OVER TWENTY MILE STREAM

lderiee.
Tel:315—789—-6670 Fax:815-789-6615

VERMONT
R[NO. [ DATE| DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY]
E[ 1| 2/17/14 REVISED PER 12/20/13 MARK-UP|EP| E
v | v
AT —1 DRAWN E.P. 1171313
ELDERLEE, INC. \ ERP,(}E.,% CHECKED | D.L. 11/20/13
’ CX v
0AKS CORNERS, NEW YORK 145 APPROVED | . .
E—-Mail: e com SCALE | SCHEMATIC

[DRAWING NO.F.R. LAFAYETTE, CAVENDISH




